
Puissances de Dix (G)

94 ÷ 1 = 44 ÷ 1 =
94 ÷ 10 = 44 ÷ 10 =
94 ÷ 100 = 44 ÷ 100 =
94 ÷ = 44 ÷ =
94 ÷ = 44 ÷ =

10 ÷ 1 = 52 ÷ 1 =
10 ÷ 10 = 52 ÷ 10 =
10 ÷ 100 = 52 ÷ 100 =
10 ÷ = 52 ÷ =
10 ÷ = 52 ÷ =

59 ÷ 1 = 78 ÷ 1 =
59 ÷ 10 = 78 ÷ 10 =
59 ÷ 100 = 78 ÷ 100 =
59 ÷ = 78 ÷ =
59 ÷ = 78 ÷ =

21 ÷ 1 = 80 ÷ 1 =
21 ÷ 10 = 80 ÷ 10 =
21 ÷ 100 = 80 ÷ 100 =
21 ÷ = 80 ÷ =
21 ÷ = 80 ÷ =

45 ÷ 1 = ÷ 1 =
45 ÷ 10 = ÷ 10 =
45 ÷ 100 = ÷ 100 =
45 ÷ = ÷ =
45 ÷ = ÷ =
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Puissances de Dix (G) Solutions

94 ÷ 1 = 94 44 ÷ 1 = 44
94 ÷ 10 = 9,4 44 ÷ 10 = 4,4
94 ÷ 100 = 0,94 44 ÷ 100 = 0,44
94 ÷ = 0,094 44 ÷ = 0,044
94 ÷ = 0,0094 44 ÷ = 0,0044

10 ÷ 1 = 10 52 ÷ 1 = 52
10 ÷ 10 = 1 52 ÷ 10 = 5,2
10 ÷ 100 = 0,1 52 ÷ 100 = 0,52
10 ÷ = 0,01 52 ÷ = 0,052
10 ÷ = 0,001 52 ÷ = 0,0052

59 ÷ 1 = 59 78 ÷ 1 = 78
59 ÷ 10 = 5,9 78 ÷ 10 = 7,8
59 ÷ 100 = 0,59 78 ÷ 100 = 0,78
59 ÷ = 0,059 78 ÷ = 0,078
59 ÷ = 0,0059 78 ÷ = 0,0078

21 ÷ 1 = 21 80 ÷ 1 = 80
21 ÷ 10 = 2,1 80 ÷ 10 = 8
21 ÷ 100 = 0,21 80 ÷ 100 = 0,8
21 ÷ = 0,021 80 ÷ = 0,08
21 ÷ = 0,0021 80 ÷ = 0,008

45 ÷ 1 = 45 ÷ 1 =
45 ÷ 10 = 4,5 ÷ 10 = 111,3
45 ÷ 100 = 0,45 ÷ 100 = 11,13
45 ÷ = 0,045 ÷ = 1,113
45 ÷ = 0,0045 ÷ = 0,1113
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